Simple Interest
Exercise 12B

Q1
Answer :

(a) Rs.125

Principal — Rs. 6250

Simple Interest = 4% per annum

Time = 6 months = % years

Simple Interest— "*RxT

625041
100>2

Simple Interest= 22 = Rs. 125

Simple Interest—

Q2

Answer :

(b) Rs.3500

Amount =Rs. 3605
Time = % days= % days
Rate=5% per annum

Amount = Sum + w

Amount = Sum (1+ R‘“"lﬁum )

3605 3605x306500
Sum= Fypra STERE
Sum= Rs. 3500

Q3



Answer:

(C) 8%

Let the sum be Rs. z.
Rate of interest = r%
Time=2% years:% years
Amount:% »x Sum
Rate=7

Amount = —2 x Sum

Principal + S.I. = Amount

Prmx:lp&l—l—%: % x Principal
Irxd
100x2

==+ %2:

_ kil 6

—}m(1+ oz ) =s5T

_ L ]

==>r=40x %

==r==8

So, the rate of interest is 8%.
Q4

Answer :

(b) 9 months
4.(b)
Let the time be ¢ years.

Principal = Rs. 8000
Amount = Rs. 8360

Rate = 6% per annum \
Amount = Principal(1+ Rﬂ?‘Tm) ’t’
8360 [

w00 — 1+ 100 @

_-~, B360 _ 4 _
=> 23 -1 Y
= .

Q5

Answer:

(b) 10%

Let the sum be Rs. = and the rate be r%.
A/Q:

Amount =2z

= P+ 5.1.=2

= py BT op

—>a(14+ 20 9p

—> M _y
== 10r = 200 — 100
= 10r = 100

_
=Tr=7

=r=10

Q6



Answer :

o (2)

Simple Interest=Rs. x
Rate= z % per annum
Time = x years

Principal x Rate = Time

Simple Interest— o0

Principalx x xx
== ¥ = —

=> Principal = Rs. 12

Q7
Answer:
(b) 8%

Time=>5 years

Simple interest= % P

—=>Rate=8%
Q8
Answer :
(c) 22 years
R1=12%
Ry = 10%
P, = Rs.8000

P, — Rs.9100

Amounts = S5. 1.5+ P
nenit, &
_ QlﬂﬂlﬁﬂxT + w
= 0107 + 9100
Amount; = Amount,
= 060T + 8000 = 9107 + 9100
= 0607 — 9107 = 9100 — 8000
= 50T = 1100
=T=22
Hence, after 22 yvears their amounts will be equal.

Q9



Answer :

(c) Rs. 768
Let the rate be R %.
SIL=A-P
= 720 —600
=Rs. 120
Time = 4 years
__ 100x8T
R="TFr
100120
R= 'ﬂﬂl;lcxti
=5

Rate of interest = 5%
Now, R = (5+2)% =7%

_ Px<R=xT
S L= =5

_ G00xT=4
- 100

= Rs. 168
Amount = SI+P
= 600 + 168
= Rs. 768

Q10

Answer :

(d) y2 = 2x

y=S.I.0113=”‘IRT"T (1)
yxRxT .
z=S8TLony= 75 (11) & (b

Dividing equation (i) by (ii) : \

¥ [ xxRxT 100
=>E_( 100 nyRxT) A

Rate=10% per any
Simple Interest=0.125 x Pri

., ProcpaRaoxtme o G Sy cipal

=> T 0,125
=}Ti_me=1.25=1i years

Q12
Answer :
(b) Rs 2400
Rate=3% % per annum
= lff % per annum
Time:?% years

=}P= 210 100
(2x2)

==P=0600x4

==P= Rs 2400



